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DU MSc Human Development and Childhood
Studies

Topic:- DU_J18_MSC_HDCS_Topic01

Reflexes that do not disappear over a period of time are: 
  

a. Stepping 
 b. Moro 

 c. Eye blink 
 d. Sneezing [Question ID = 3515]

1. c & b [Option ID = 14059]
2. c & a [Option ID = 14057]
3. a & b [Option ID = 14060]
4. c & d [Option ID = 14058]

Correct Answer :-
c & d [Option ID = 14058]

The family where mother is the authority figure is called: [Question ID = 3468]

1. Matrilocal [Option ID = 13871]
2. Patrilineal [Option ID = 13870]
3. Matrilineal [Option ID = 13869]
4. Patrilocal [Option ID = 13872]

Correct Answer :-
Matrilineal [Option ID = 13869]

Kohlberg’s stages of moral understanding involve: [Question ID = 3463]

1. Heteronomous and autonomous morality [Option ID = 13850]
2. Reward and reinforcement for good behaviour [Option ID = 13852]
3. Pre-conventional and post-conventional levels [Option ID = 13849]
4. Theory-of-mind tasks [Option ID = 13851]

Correct Answer :-
Pre-conventional and post-conventional levels [Option ID = 13849]

If a child is born deaf, she will face difficulty primarily in : [Question ID = 3441]

1. Learning by language experience [Option ID = 13762]
2. Going through Erikson's stages [Option ID = 13763]
3. Relationship with parents [Option ID = 13761]
4. Adapting biologically [Option ID = 13764]

Correct Answer :-
Learning by language experience [Option ID = 13762]

      Match the following:                                           

a. Participant observation           i. Diana Baumrind
b. Authoritative parenting           ii. Kailash Sathyarthi
c. Bachpan Bachao                     iii. W. J. Goode
d. Family and kinship                  iv. Margaret Mead

                                                         v. Malinowski

[Question ID = 3525]

1. a&v, b&i, c&ii, d&iii [Option ID = 14098]
2. a&iii, b&ii, c&iv, d&i [Option ID = 14097]
3. a&iii, b&iv, c&iii, d&i [Option ID = 14099]
4. a&iii, b&v, c&i, d&ii [Option ID = 14100]
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Correct Answer :-
a&v, b&i, c&ii, d&iii [Option ID = 14098]

Denny has a flat upper lip, wide set eyes, and problems with his heart in addition to being mildly retarded. Denny most likely suffers
from [Question ID = 3478]

1. Fragile X syndrome [Option ID = 13911]
2. Down syndrome [Option ID = 13909]
3. Fetal alcohol syndrome [Option ID = 13910]
4. Cretinism [Option ID = 13912]

Correct Answer :-
Fetal alcohol syndrome [Option ID = 13910]

In fine motor development sequence of milestones are as follows 
  

a. Scribbling 
 b. Tying a knot 

 c. Tearing paper 
 d. Cutting paper [Question ID = 3535]

1. a, c, b, d [Option ID = 14138]
2. c, b, d, a [Option ID = 14139]
3. a, b, c, d [Option ID = 14140]
4. c, a, d, b [Option ID = 14137]

Correct Answer :-
c, a, d, b [Option ID = 14137]

Urie Bronfenbrenner gave: [Question ID = 3461]

1. Sociobiology [Option ID = 13843]
2. Humanistic Perspective [Option ID = 13841]
3. Ecological Systems Theory [Option ID = 13844]
4. Ecosystems [Option ID = 13842]

Correct Answer :-
Ecological Systems Theory [Option ID = 13844]

Gender budgeting means: [Question ID = 3462]

1. Government financial outlay to ensure policy commitments towards women [Option ID = 13848]
2. Budgets made by women [Option ID = 13845]
3. Budget allocated in families for girl child [Option ID = 13846]
4. Budget under corporate social responsibility for women [Option ID = 13847]

Correct Answer :-
Government financial outlay to ensure policy commitments towards women [Option ID = 13848]

An infant’s tendency to attend to the more complex of two stimuli is the basis of the method called [Question ID = 3485]

1. Contingency learning [Option ID = 13940]
2. Habituation [Option ID = 13938]
3. Preference paradigm [Option ID = 13937]
4. Conditioned head turning [Option ID = 13939]

Correct Answer :-
Preference paradigm [Option ID = 13937]

The Rights of Persons with Disabilities Act, 2016 defines the term barrier as any factor that hampers full and effective participation of
person with disabilities. These barriers can be: 

  
a. Socio-cultural 

 b. Economic and environmental 
 c. Political 

 d. Social and attitudinal [Question ID = 3512]

1. All of these [Option ID = 14048]
2. c & d [Option ID = 14047]
3. b & d [Option ID = 14045]
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4. a, b, & d [Option ID = 14046]

Correct Answer :-
All of these [Option ID = 14048]

Rank the order in which an intelligence test be constructed: 
  

a. Preparation of norms for the test 
 b. Standardizing the test 

 c. Administration of test 
 d. Writing items for the test [Question ID = 3531]

1. b, d, c, a [Option ID = 14124]
2. a, b, c, d [Option ID = 14122]
3. d, b, a, c [Option ID = 14123]
4. b, a, d, c [Option ID = 14121]

Correct Answer :-
d, b, a, c [Option ID = 14123]

Rank the following as per Master and Johnson’s stages of sexual response cycle 
  

a. Resolution 
 b. Orgasm 

 c. Plateau 
 d. Excitement [Question ID = 3530]

1. d, c, b, a [Option ID = 14118]
2. d, c, a, b [Option ID = 14120]
3. a, b, c, d [Option ID = 14119]
4. b, c, d, a [Option ID = 14117]

Correct Answer :-
d, c, b, a [Option ID = 14118]

Rank the following in the order of their occurrence for classical conditioning to take place 
  

a. Conditioned response 
 b. Unconditional stimulus 

 c. Acquisition 
 d. Neutral stimulus [Question ID = 3528]

1. b,c,d,a [Option ID = 14110]
2. c,d,b,a [Option ID = 14109]
3. d,b,c,a [Option ID = 14112]
4. a,b,c,d [Option ID = 14111]

Correct Answer :-
d,b,c,a [Option ID = 14112]

Rank the following levels as per Kohlberg’s stages of moral development: 
  

a. Conformity and interpersonal accord 
 b. Social contract 

 c. Obedience/ punishment 
 d. Self interest 

 e. Authority and social order 
 f. Universal principles [Question ID = 3529]

1. c,d,a,e,f,b [Option ID = 14116]
2. c,d,a,e,b,f [Option ID = 14113]
3. f,e,d,c,b,a [Option ID = 14115]
4. a,b,c,d,e,f [Option ID = 14114]

Correct Answer :-
c,d,a,e,b,f [Option ID = 14113]

Research findings that explain behavior under many conditions are: [Question ID = 3483]

1. All of these [Option ID = 13932]
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2. Generalizable [Option ID = 13929]
3. Reliable [Option ID = 13931]
4. Valid [Option ID = 13930]

Correct Answer :-
Generalizable [Option ID = 13929]

Research on identical twins can be most helpful when studying which type of debate? [Question ID = 3444]

1. Mechanistic vs. organismic [Option ID = 13773]
2. Continuity vs. discontinuity [Option ID = 13775]
3. Nature vs. nurture [Option ID = 13774]
4. Operant vs. classical conditioning [Option ID = 13776]

Correct Answer :-
Nature vs. nurture [Option ID = 13774]

Which pair from the following options represents the two psychological perspectives that were also part of the historical beginnings
of psychology? 

  
a. Humanism 

 b. Behaviorism 
 c. Psychodynamics 

 d. Cognitive psychology [Question ID = 3509]

1. b & c [Option ID = 14034]
2. a & b [Option ID = 14036]
3. d & c [Option ID = 14035]
4. a & c [Option ID = 14033]

Correct Answer :-
b & c [Option ID = 14034]

The written description of a culture that an anthropologists produce from their research is called: [Question ID = 3489]

1. Ethnicity [Option ID = 13954]
2. Ethnography [Option ID = 13956]
3. Ethnocentrism [Option ID = 13953]
4. Ethnocide [Option ID = 13955]

Correct Answer :-
Ethnography [Option ID = 13956]

Who among the following is famous for ‘Self-Actualization’? [Question ID = 3454]

1. Carl Rogers [Option ID = 13813]
2. Anna Freud [Option ID = 13816]
3. Sigmund Freud [Option ID = 13814]
4. Abraham Maslow [Option ID = 13815]

Correct Answer :-
Abraham Maslow [Option ID = 13815]

In the testing of intelligence the expression ‘chronological age’ refers to which of the following? [Question ID = 3459]

1. Scaled scores [Option ID = 13836]
2. The capacity of the person to solve a dilemma [Option ID = 13834]
3. The person’s age in years and months [Option ID = 13835]
4. The person’s performance on a list of items [Option ID = 13833]

Correct Answer :-
The person’s age in years and months [Option ID = 13835]

Ritu and Rakesh are playing a detective game in which they must sort through many clues in order to determine who has committed
a crime. This game requires them to use: [Question ID = 3447]

1. Critical thinking [Option ID = 13788]
2. Decision making. [Option ID = 13787]
3. Inductive reasoning [Option ID = 13785]
4. Deductive reasoning. [Option ID = 13786]
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Correct Answer :-
Deductive reasoning. [Option ID = 13786]

Sociology is the study of: [Question ID = 3466]

1. All of these [Option ID = 13864]
2. Social Relations [Option ID = 13863]
3. Social Groups [Option ID = 13862]
4. Society [Option ID = 13861]

Correct Answer :-
All of these [Option ID = 13864]

In language development choose the correct sequence: 
  

a. babbling 
 b. irony 

 c. semantics 
 d. Use of pragmatics [Question ID = 3533]

1. b, a, c, d [Option ID = 14129]
2. a, c, d, b [Option ID = 14130]
3. a, c, b, d [Option ID = 14131]
4. a, d, c, b [Option ID = 14132]

Correct Answer :-
a, c, d, b [Option ID = 14130]

Actions or behavior that are intended to benefit another person form the concept of: [Question ID = 3453]

1. Allele [Option ID = 13811]
2. Despair [Option ID = 13810]
3. Integrity [Option ID = 13809]
4. Altruism [Option ID = 13812]

Correct Answer :-
Altruism [Option ID = 13812]

The Strange Situation test was developed by: [Question ID = 3456]

1. Mulkh Raj Anand [Option ID = 13822]
2. Malavika Kapur [Option ID = 13823]
3. Mary Ainsworth [Option ID = 13824]
4. James Marcia [Option ID = 13821]

Correct Answer :-
Mary Ainsworth [Option ID = 13824]

The approach to motivation that forced psychologists to consider the hereditary factors in motivation was? [Question ID = 3479]

1. Arousal approach [Option ID = 13913]
2. Innate approach [Option ID = 13915]
3. Instinctive approach [Option ID = 13916]
4. Drive reduction approach [Option ID = 13914]

Correct Answer :-
Innate approach [Option ID = 13915]

The application of theory in clinical practice is called: [Question ID = 3457]

1. Psychotherapy [Option ID = 13826]
2. Psychology [Option ID = 13828]
3. Psychokinesis [Option ID = 13827]
4. Psychopathology [Option ID = 13825]

Correct Answer :-
Psychotherapy [Option ID = 13826]

Cultural modification of a person/group by adopting to a new culture is called: [Question ID = 3469]
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1. Acculturation [Option ID = 13875]
2. Culturation [Option ID = 13873]
3. Moderation [Option ID = 13876]
4. De-culturation [Option ID = 13874]

Correct Answer :-
Acculturation [Option ID = 13875]

Which theory believes that ‘social order’ is maintained through shared norms and beliefs? [Question ID = 3473]

1. Consensus Theory [Option ID = 13891]
2. Modernisation Theory [Option ID = 13892]
3. Conflict Theory [Option ID = 13890]
4. Interactionist Theory [Option ID = 13889]

Correct Answer :-
Consensus Theory [Option ID = 13891]

The ‘Untouchables’ in India were also referred as: [Question ID = 3470]

1. All of these [Option ID = 13880]
2. Panchama [Option ID = 13878]
3. Harijan [Option ID = 13879]
4. Antyaja [Option ID = 13877]

Correct Answer :-
All of these [Option ID = 13880]

A research technique in which researchers obtain information about an infant’s spontaneous behavior is: [Question ID = 3488]

1. Newborn neurobehavioral exams [Option ID = 13952]
2. Naturalistic observation [Option ID = 13951]
3. Standardized developmental testing [Option ID = 13949]
4. Experimental designs [Option ID = 13950]

Correct Answer :-
Naturalistic observation [Option ID = 13951]

Freud’s notion of the ‘ego’ referred to:

[Question ID = 3490]

1. The conscious part of the mind that regulates emotional drives on a practical level [Option ID = 13959]
2. The self as a whole: an unstable mix of conscious and unconscious elements [Option ID = 13958]
3. The unconscious mass of instinctive drives that may be repressed [Option ID = 13957]
4. The neurotic part of the mind that longs for belonging and may suffer an inferiority complex [Option ID = 13960]

Correct Answer :-
The unconscious mass of instinctive drives that may be repressed [Option ID = 13957]

The name of B.F Skinner is associated with [Question ID = 3460]

1. Regression [Option ID = 13840]
2. Classical Conditioning [Option ID = 13838]
3. Evolution [Option ID = 13837]
4. Self-Actualization [Option ID = 13839]

Correct Answer :-
Classical Conditioning [Option ID = 13838]

What do you associate with the term domestic violence? 
  

a. Patriarchy 
 b. Matriarchy 
 c. Verbal abuse 

 d. Riots [Question ID = 3514]

1. a & c [Option ID = 14056]
2. a & d [Option ID = 14055]
3. a & b [Option ID = 14053]
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4. b & c [Option ID = 14054]

Correct Answer :-
a & c [Option ID = 14056]

In a traditional family system, the head of the family used to be- [Question ID = 3472]

1. The richest member of the family [Option ID = 13888]
2. The smallest member of the family [Option ID = 13887]
3. The eldest member of the family [Option ID = 13886]
4. The wisest member of the family [Option ID = 13885]

Correct Answer :-
The eldest member of the family [Option ID = 13886]

Children are most likely to have high self-esteem and get along well with their peers when parenting is [Question ID = 3448]

1. Authoritative [Option ID = 13792]
2. Authoritarian [Option ID = 13791]
3. Neglectful [Option ID = 13790]
4. Indulgent [Option ID = 13789]

Correct Answer :-
Authoritative [Option ID = 13792]

Identify the school, which stated ‘the whole is greater than the sum of its parts’ [Question ID = 3475]

1. Gestalt Psychology [Option ID = 13898]
2. Cognitive Psychology [Option ID = 13899]
3. Evolutionary Psychology [Option ID = 13900]
4. Behavioral Psychology [Option ID = 13897]

Correct Answer :-
Gestalt Psychology [Option ID = 13898]

Identify the correct pairs: 
  

a. Seriation & Conservation 
 b. Phonemes & Morphemes 
 c. Assimilation & Accommodation 

 d. Radical & Liberal [Question ID = 3517]

1. a & b [Option ID = 14065]
2. a & c [Option ID = 14066]
3. b & d [Option ID = 14067]
4. a & d [Option ID = 14068]

Correct Answer :-
a & c [Option ID = 14066]

Identify the correct sequence of appearance of emotions: 
  

a. Unselective social smile 
 b. Pride 

 c. Fear 
 d. Joy [Question ID = 3536]

1. a, c, d, b [Option ID = 14142]
2. d, a, c, b [Option ID = 14143]
3. d, c, a, b [Option ID = 14144]
4. a, d, c, b [Option ID = 14141]

Correct Answer :-
a, d, c, b [Option ID = 14141]

Identify the two problems with behavioral assessment 
  

a. Observer effect 
 b. Observer bias 
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c. Halo effect 
 d. Cocktail Party effect [Question ID = 3511]

1. c&d [Option ID = 14043]
2. c&b [Option ID = 14041]
3. d&b [Option ID = 14044]
4. a&b [Option ID = 14042]

Correct Answer :-
a&b [Option ID = 14042]

Identify the two famous people who have intensely contributed to interest of women 
  

a. Gloria Steinem 
 b. Kalpana Chawla 

 c. Saina Nehwal 
 d. Irom Sharmila [Question ID = 3518]

1. a & c [Option ID = 14071]
2. a& b [Option ID = 14069]
3. a & d [Option ID = 14072]
4. b & c [Option ID = 14070]

Correct Answer :-
a & d [Option ID = 14072]

In gross motor development sequence of milestones are as follows: 
  

a. Sitting 
 b. Crawling 

 c. Standing 
 d. Head control [Question ID = 3534]

1. a, d, b, c [Option ID = 14136]
2. d, a, b, c [Option ID = 14134]
3. b, a, c, d [Option ID = 14133]
4. a, c, b, d [Option ID = 14135]

Correct Answer :-
d, a, b, c [Option ID = 14134]

Sex ratio is the number of females [Question ID = 3439]

1. per 100 males [Option ID = 13754]
2. per 1000 males [Option ID = 13753]
3. per 10 males [Option ID = 13756]
4. per 10,000 males [Option ID = 13755]

Correct Answer :-
per 1000 males [Option ID = 13753]

During the period of development known as “middle childhood,” a child typically: [Question ID = 3451]

1. Masters the fundamental skills of writing. [Option ID = 13801]
2. Makes important career decision [Option ID = 13803]
3. Learns to identify letters of the alphabet [Option ID = 13804]
4. Spends time in thinking about self. [Option ID = 13802]

Correct Answer :-
Masters the fundamental skills of writing. [Option ID = 13801]

Some of the activities listed below promote large muscle skills in children. Identify the correct pair of responses: 
  

a. jump and hop 
 b. Threading beads 

 c. Cutting and pasting 
 d. Throw and catch [Question ID = 3516]

1. a& b [Option ID = 14061]
2. c & a [Option ID = 14064]
3. a & d [Option ID = 14063]

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.F
irs

tR
an

ke
r.c

om

47)  

48)  

49)  

50)  

51)  

52)  

4. c & d [Option ID = 14062]

Correct Answer :-
a & d [Option ID = 14063]

The basic premise of Caste system in India is the principle of: [Question ID = 3467]

1. Educational qualification [Option ID = 13868]
2. Communal status [Option ID = 13867]
3. Purity and Pollution [Option ID = 13865]
4. Economic wellbeing [Option ID = 13866]

Correct Answer :-
Purity and Pollution [Option ID = 13865]

The basic units of sound are: [Question ID = 3477]

1. Morphemes [Option ID = 13905]
2. Phonemes [Option ID = 13906]
3. Syntax [Option ID = 13908]
4. Semantics [Option ID = 13907]

Correct Answer :-
Phonemes [Option ID = 13906]

Leptin is the name of the substance involved in appetite control. It is a? [Question ID = 3481]

1. Fatty tissue [Option ID = 13922]
2. Organ [Option ID = 13923]
3. Hormone [Option ID = 13921]
4. Neurotransmitter [Option ID = 13924]

Correct Answer :-
Hormone [Option ID = 13921]

If there is a history of obesity in the family, the chance of each member becoming obese compared to people without such a family
history is? [Question ID = 3480]

1. Less risk [Option ID = 13920]
2. Double or triple the risk [Option ID = 13918]
3. Five times the risk [Option ID = 13919]
4. The same risk [Option ID = 13917]

Correct Answer :-
Double or triple the risk [Option ID = 13918]

Arrange the following according to stages of cognitive development as suggested by Piaget: 
  

a. Seriation 
 b. Conservation 

 c. Futuristic thinking 
 d. Reflexes [Question ID = 3532]

1. d, c, a, b [Option ID = 14128]
2. a, b, c, d [Option ID = 14126]
3. d, a, b, c [Option ID = 14125]
4. b, c, d, a [Option ID = 14127]

Correct Answer :-
d, a, b, c [Option ID = 14125]

Assertion: Violence against women has drastically increased over past few years. 
  

Reason: More cases have been started getting reported. [Question ID = 3507]

1. Only Reason is correct [Option ID = 14028]
2. Both Assertion and Reason are correct [Option ID = 14025]
3. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 14026]
4. Only Assertion is correct [Option ID = 14027]
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Correct Answer :-
Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 14026]

Assertion: The protests against untouchability have increased. 
 
Reason: The law and order in this regard has got better. [Question ID = 3496]

1. Only Reason is correct [Option ID = 13984]
2. Both Assertion and Reason are correct bur Reason is not the correct explanation of Assertion [Option ID = 13982]
3. Both Assertion and Reason are correct [Option ID = 13981]
4. Only Assertion is correct [Option ID = 13983]

Correct Answer :-
Only Reason is correct [Option ID = 13984]

Assertion- socialization is forming bond with others. 
  

Reason- when we socialise we become close to others. [Question ID = 3502]

1. Assertion incorrect reason correct [Option ID = 14007]
2. Assertion incorrect and reason incorrect [Option ID = 14008]
3. Assertion correct and reason incorrect [Option ID = 14005]
4. Assertion correct and reason correct [Option ID = 14006]

Correct Answer :-
Assertion incorrect and reason incorrect [Option ID = 14008]

Assertion: Most schools are happy to follow inclusive practices 
  

Reason: It is easy to keep children with disabilities along with non-disabled children in the class [Question ID = 3508]

1. Only Reason correct [Option ID = 14032]
2. Assertion incorrect Reason incorrect [Option ID = 14030]
3. Assertion correct Reason incorrect [Option ID = 14029]
4. Only Assertion incorrect [Option ID = 14031]

Correct Answer :-
Assertion incorrect Reason incorrect [Option ID = 14030]

Assertion: Before Independence, women leaders were very strong. 
  

Reason: Pre-independence there was no patriarchy in India. [Question ID = 3505]

1. Only Reason is correct [Option ID = 14020]
2. Both Assertion and Reason are correct [Option ID = 14017]
3. Both Assertion and Reason incorrect [Option ID = 14018]
4. Only Assertion is correct [Option ID = 14019]

Correct Answer :-
Both Assertion and Reason incorrect [Option ID = 14018]

Assertion: Before Independence, Dalit movements were never so strong. 
  

Reason: Various Backward classes had internal hierarchy and conflicts. [Question ID = 3494]

1. Only Reason is correct [Option ID = 13976]
2. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 13974]
3. Both Assertion and Reason are correct [Option ID = 13973]
4. Only Assertion is correct [Option ID = 13975]

Correct Answer :-
Both Assertion and Reason are correct [Option ID = 13973]

Assertion- Women in India enjoy equal opportunities with men in every field.
  

Reasoning- Constitution of India prohibits any discrimination against women. [Question ID = 3500]

1. Assertion incorrect reason correct [Option ID = 13999]
2. Assertion incorrect and reason incorrect [Option ID = 14000]
3. Assertion correct and reason incorrect [Option ID = 13997]
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4. Assertion correct and reason correct [Option ID = 13998]

Correct Answer :-
Assertion incorrect reason correct [Option ID = 13999]

Assertion: In our country, literacy rate among men is higher than women. 
  

Reason: Many girls still do not go to school. [Question ID = 3504]

1. Only Reason is correct [Option ID = 14016]
2. Both Assertion and Reason are correct [Option ID = 14013]
3. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 14014]
4. Only Assertion is correct [Option ID = 14015]

Correct Answer :-
Both Assertion and Reason are correct [Option ID = 14013]

Assertion: Our country is culturally diverse. 
 
Reason: This is a result of inequality. [Question ID = 3506]

1. Only Reason is correct [Option ID = 14024]
2. Only Assertion is correct [Option ID = 14023]
3. Both Assertion and Reason are correct [Option ID = 14021]
4. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 14022]

Correct Answer :-
Only Assertion is correct [Option ID = 14023]

Assertion: Urban Spaces are confluence of Peoples and cultures. 
  

Reason: Urban spaces are centers of excellence. [Question ID = 3498]

1. Only Reason is correct [Option ID = 13992]
2. Both Assertion and Reason are correct [Option ID = 13989]
3. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 13990]
4. Only Assertion is correct [Option ID = 13991]

Correct Answer :-
Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 13990]

Assertion: Caste based crimes are low in cities. 
  

Reason: Cities have more legal bodies. [Question ID = 3495]

1. Only Reason is correct [Option ID = 13980]
2. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 13978]
3. Both Assertion and Reason are correct [Option ID = 13977]
4. Only Assertion is correct [Option ID = 13979]

Correct Answer :-
Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 13978]

Assertion- The phenomenon of adopting lifestyle of the dominant caste by lower caste is sanskritisation. 
  

Reason- This is done to move from higher or lower to another caste. [Question ID = 3499]

1. Assertion correct and reason correct [Option ID = 13994]
2. Assertion incorrect reason correct [Option ID = 13995]
3. Assertion incorrect and reason incorrect [Option ID = 13996]
4. Assertion correct and reason incorrect [Option ID = 13993]

Correct Answer :-
Assertion correct and reason incorrect [Option ID = 13993]

After 18 months infants acquire approximately [Question ID = 3486]

1. 50 new words a day [Option ID = 13944]
2. 2 new words a day [Option ID = 13941]
3. 20 new words a day [Option ID = 13942]
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4. 10 new words a day [Option ID = 13943]

Correct Answer :-
10 new words a day [Option ID = 13943]

The correct sequence of stages in prenatal development are: 
  

a. Period of embryo 
 b. Period of labour 

 c. Germinal period 
 d. Period of foetus [Question ID = 3537]

1. c, a, d, b [Option ID = 14148]
2. a, c, d, b [Option ID = 14146]
3. d, a, c, b [Option ID = 14147]
4. a, d, c, b [Option ID = 14145]

Correct Answer :-
c, a, d, b [Option ID = 14148]

Assertion: The culture of dominant class controls the dominant meanings.
  

Reason: The structural relations between classes ensure this dominance.

[Question ID = 3497]

1. Both Assertion and Reason are correct but Reason is not the correct explanation of Assertion [Option ID = 13986]
2. Both Assertion and Reason are correct [Option ID = 13985]
3. Only Assertion is correct [Option ID = 13987]
4. Only Reason is correct [Option ID = 13988]

Correct Answer :-
Both Assertion and Reason are correct [Option ID = 13985]

Assertion- In adolescence, thinking is limited.
 Reason- Their idealistic thinking is limited due to egocentrism.

[Question ID = 3501]

1. Assertion correct and reason correct [Option ID = 14002]
2. Assertion correct and reason incorrect [Option ID = 14001]
3. Assertion incorrect and reason incorrect [Option ID = 14004]
4. Assertion incorrect reason correct [Option ID = 14003]

Correct Answer :-
Assertion correct and reason correct [Option ID = 14002]

Assertion: Variable Time schedule of reinforcement is the most effective kind of reinforcement for maintaining a behavior
  

Reason: Maintaining a behavior requires regular and continuous reinforcement.

[Question ID = 3503]

1. Assertion correct reason incorrect [Option ID = 14009]
2. Assertion correct reason correct [Option ID = 14010]
3. Assertion incorrect reason incorrect [Option ID = 14011]
4. Assertion incorrect reason correct [Option ID = 14012]

Correct Answer :-
Assertion correct reason incorrect [Option ID = 14009]

HDI is calculated using: [Question ID = 3445]

1. Educational attainment [Option ID = 13778]
2. Life expectancy [Option ID = 13777]
3. All these [Option ID = 13780]
4. Real GDP [Option ID = 13779]

Correct Answer :-
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All these [Option ID = 13780]

Bowlby’s maternal deprivation thesis claimed that:

[Question ID = 3492]

1. Mothers who are living in poverty cannot afford to give their children the resources that other children enjoy [Option ID = 13965]
2. Mothering’ is a socially constructed activity identified in the narratives of new mothers [Option ID = 13967]
3. Children deprived of an early, secure attachment to their mother are prone to suffer physically, intellectually and socially in later life. [Option ID = 13966]
4. Deprivation is something children inherit, usually through their mother’s side [Option ID = 13968]

Correct Answer :-
Children deprived of an early, secure attachment to their mother are prone to suffer physically, intellectually and socially in later life. [Option ID =
13966]

A child with autism will demonstrate deficits in: 
  

a. Social interaction 
 b. Verbal and nonverbal communication 

 c. Imitation 
 d. Physical growth [Question ID = 3510]

1. a & b [Option ID = 14040]
2. All of these [Option ID = 14037]
3. b & c [Option ID = 14038]
4. a, b, & c [Option ID = 14039]

Correct Answer :-
a, b, & c [Option ID = 14039]

A child with learning disability will show problem in the following 
  

a. Letter symbol reversal 
 b. Transpositions 

 c. Substitutions 
 d. Visual word memory problem [Question ID = 3513]

1. All of these [Option ID = 14049]
2. a & d [Option ID = 14052]
3. b & c [Option ID = 14051]
4. a, b, & c [Option ID = 14050]

Correct Answer :-
All of these [Option ID = 14049]

Pilot testing in social research means: [Question ID = 3493]

1. Pre-testing the location [Option ID = 13971]
2. Pre-testing the objectives [Option ID = 13972]
3. Pre-testing the tools [Option ID = 13969]
4. Pre-testing the sample [Option ID = 13970]

Correct Answer :-
Pre-testing the tools [Option ID = 13969]
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[Question ID = 30657]

1. eii, fi, ciii, div, bv, avi [Option ID = 62621]
2. biv, ci, dvi, aiii, ev, fii [Option ID = 62619]
3. aiv, cvi, bi, dv, fiii, eii [Option ID = 62618]
4. ai, bii, ciii, div, ev, fvi [Option ID = 62622]

Correct Answer :-
aiv, cvi, bi, dv, fiii, eii [Option ID = 62618]

[Question ID = 5284]

1. a & i, b & ii, c & iv, d & v [Option ID = 21135]
2. a & iii, b & i, c & iv, d & v [Option ID = 21134]
3. a & ii, b & iv, c & v, d & I [Option ID = 21136]
4. a & ii, b & i, c & iii, d & v [Option ID = 21133]

Correct Answer :-
a & ii, b & iv, c & v, d & I [Option ID = 21136]

[Question ID = 3527]

1. a&iii, b&iv, c&ii, d&i [Option ID = 14107]
2. a&iii, b&iv, c& ii, d& v [Option ID = 14108]
3. a&iii, b&ii, c&iv, d&i [Option ID = 14105]
4. a&v, b&i, c&ii, d&iii [Option ID = 14106]

Correct Answer :-
a&iii, b&iv, c&ii, d&i [Option ID = 14107]
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[Question ID = 5285]

1. a&iv, b&v, c&iii, d&ii [Option ID = 21138]
2. a&iii, b&iv, c&i, d&ii [Option ID = 21139]
3. a&v, b&iii, c&iv, d&ii [Option ID = 21140]
4. a&i, b&ii, c&iii, d&iv [Option ID = 21137]

Correct Answer :-
a&iii, b&iv, c&i, d&ii [Option ID = 21139]

[Question ID = 3520]

1. 2a, 1b, 3c [Option ID = 14080]
2. 3a, 4b, 2c [Option ID = 14077]
3. 2a, 4b, 3c [Option ID = 14079]
4. 2a, 3b, 1c [Option ID = 14078]

Correct Answer :-

[Question ID = 3524]

1. a&iv, b&v, c&iii, d&ii [Option ID = 14094]
2. a&iii, b&v, c&i, d&ii [Option ID = 14096]
3. a&iii, b&ii, c&iv, d&i [Option ID = 14093]
4. a&i, b&iv, c&iii, d&ii [Option ID = 14095]

Correct Answer :-
a&iii, b&v, c&i, d&ii [Option ID = 14096]
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[Question ID = 3526]

1. a&iii, b&iv, c&v, d&i [Option ID = 14103]
2. a&iii, b&iv, c&ii, d&v [Option ID = 14104]
3. a&iii, b&ii, c&iv, d&i [Option ID = 14101]
4. a&v, b&i, c&ii, d&iii [Option ID = 14102]

Correct Answer :-
a&iii, b&iv, c&v, d&i [Option ID = 14103]

Semantics refers to: [Question ID = 3487]

1. Learning word meanings [Option ID = 13945]
2. Learning new words [Option ID = 13948]
3. Learning to communicate with words [Option ID = 13947]
4. Knowledge of the rules of combining words in sentences [Option ID = 13946]

Correct Answer :-
Knowledge of the rules of combining words in sentences [Option ID = 13946]

Gender disparity in a family is most evident in the form of:

[Question ID = 3471]

1. Both Colour and Division of Labour [Option ID = 13883]
2. Division of Labour [Option ID = 13882]
3. None of these [Option ID = 13884]
4. Colour [Option ID = 13881]

Correct Answer :-
Division of Labour [Option ID = 13882]

Socialization is: [Question ID = 3491]

1. The historical process by which societies change from traditional to modern [Option ID = 13964]
2. The process of becoming part of a society by learning its norms and values [Option ID = 13963]
3. The formation of an attachment bond between an infant and its carer [Option ID = 13961]
4. A tendency of social theorists to explain everything in terms of social causes [Option ID = 13962]

Correct Answer :-
The process of becoming part of a society by learning its norms and values [Option ID = 13963]

Choose the best example of seriation: [Question ID = 3452]

1. Reena stacks her blocks. [Option ID = 13808]
2. Jay lines his blocks from biggest to smallest [Option ID = 13807]
3. Reema lines her blocks in a straight row. [Option ID = 13805]
4. Aslam lines his blocks by color [Option ID = 13806]

Correct Answer :-
Jay lines his blocks from biggest to smallest [Option ID = 13807]

The following are models of disability: 
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a. Charity model 
 b. Social model 

 c. Right based model 
 d. Economical model [Question ID = 3519]

1. All of these [Option ID = 14073]
2. a & d [Option ID = 14076]
3. b & c [Option ID = 14075]
4. a, b, & c [Option ID = 14074]

Correct Answer :-
a, b, & c [Option ID = 14074]

The following offers the best example of an argument for environmental influences on language: [Question ID = 3443]

1. Children have an inborn propensity to acquire language [Option ID = 13772]
2. Humans are prewired to learn language [Option ID = 13769]
3. Parents’ reinforcement of language, enriches use of language [Option ID = 13771]
4. Even if parents do not speak to children, children still acquire language [Option ID = 13770]

Correct Answer :-
Parents’ reinforcement of language, enriches use of language [Option ID = 13771]

The following concepts are central to Noam Chomsky’s work on linguistics: [Question ID = 3455]

1. Loris, Lullabies [Option ID = 13819]
2. LAD, Universal grammar [Option ID = 13817]
3. Multilingualism [Option ID = 13820]
4. Silent thought, Inner speech [Option ID = 13818]

Correct Answer :-
LAD, Universal grammar [Option ID = 13817]

The following is not a Commission for protection of rights [Question ID = 3446]

1. NCW [Option ID = 13781]
2. NCPCR [Option ID = 13782]
3. NRI [Option ID = 13784]
4. NHRC [Option ID = 13783]

Correct Answer :-
NRI [Option ID = 13784]

The following is an example of an ego defence mechanism: [Question ID = 3442]

1. Oedipus complex [Option ID = 13767]
2. Autonomy [Option ID = 13765]
3. Repression [Option ID = 13768]
4. Latency [Option ID = 13766]

Correct Answer :-
Repression [Option ID = 13768]

Which of the following are essential for positive youth development? [Question ID = 3458]

1. Resilience, emotional competency, bonding [Option ID = 13829]
2. Identity, inner-self, early marriage [Option ID = 13831]
3. All these [Option ID = 13832]
4. Emotional dissonance, social distance, bonded labour [Option ID = 13830]

Correct Answer :-
Resilience, emotional competency, bonding [Option ID = 13829]

One of the most effective way of studying change over a period of time is through: [Question ID = 3450]

1. Case study [Option ID = 13797]
2. Interview [Option ID = 13800]
3. Longitudinal study [Option ID = 13799]
4. Observational study [Option ID = 13798]
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Correct Answer :-
Longitudinal study [Option ID = 13799]

What contributes to the social mobility in a system of stratification? [Question ID = 3465]

1. None of these [Option ID = 13860]
2. Higher education [Option ID = 13857]
3. Inter-caste marriage [Option ID = 13858]
4. Both these [Option ID = 13859]

Correct Answer :-
Both these [Option ID = 13859]

The typical chromosome pattern in Down syndrome is: [Question ID = 3484]

1. XXY. [Option ID = 13934]
2. Multisomy 13. [Option ID = 13936]
3. XYY. [Option ID = 13933]
4. Trisomy 21. [Option ID = 13935]

Correct Answer :-
Trisomy 21. [Option ID = 13935]

Who was the first woman president of the American Psychological Association? [Question ID = 3476]

1. Mary Whiton Calkins [Option ID = 13901]
2. Eleanor Gibson [Option ID = 13904]
3. Mary Cover Jones [Option ID = 13902]
4. Margaret Washburn [Option ID = 13903]

Correct Answer :-
Mary Whiton Calkins [Option ID = 13901]

Rahul says that boys should play with blocks and toy cars, and girls should play with dolls. He is exhibiting: [Question ID = 3449]

1. Prejudice [Option ID = 13796]
2. Gender stereotypes [Option ID = 13794]
3. Gender stigma [Option ID = 13793]
4. Discrimination [Option ID = 13795]

Correct Answer :-
Gender stereotypes [Option ID = 13794]

The father of experimental psychology [Question ID = 3474]

1. Wilhelm Wundt [Option ID = 13894]
2. William James [Option ID = 13895]
3. Rene Descartes [Option ID = 13896]
4. Titchener [Option ID = 13893]

Correct Answer :-
Wilhelm Wundt [Option ID = 13894]

What would fall into the category of Social Institution? [Question ID = 3464]

1. Family [Option ID = 13854]
2. Marriage [Option ID = 13855]
3. All of these [Option ID = 13856]
4. School [Option ID = 13853]

Correct Answer :-
All of these [Option ID = 13856]

The period of development characterized by establishing independence, developing an identity, and thinking more abstractly is
[Question ID = 3438]

1. Late childhood [Option ID = 13750]
2. Early adulthood [Option ID = 13752]
3. Adolescence [Option ID = 13751]
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4. Middle childhood [Option ID = 13749]

Correct Answer :-
Adolescence [Option ID = 13751]

The theory of emotion which would predict that people with spinal cord injuries that prevent them from experiencing sympathetic
arousal would show decreased emotion was proposed by?

[Question ID = 3482]

1. Skinner-Pavlov [Option ID = 13928]
2. Schachter- Singer [Option ID = 13927]
3. James- Lange [Option ID = 13925]
4. Cannon- Bard [Option ID = 13926]

Correct Answer :-
James- Lange [Option ID = 13925]

The point at which baby can first survive outside the womb is called: [Question ID = 3440]

1. Age of productivity [Option ID = 13758]
2. Age of living [Option ID = 13759]
3. Age of sustenance [Option ID = 13757]
4. Age of viability [Option ID = 13760]

Correct Answer :-
Age of viability [Option ID = 13760]
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